(1) (2)

LR
R2[E

current += value

(3)
( )(1) A. calc score B. def calc score
C. return calc score
( )(2) A. (current, value): B ():
C. (current, value) D ()
( )(3) A. pass current B. return current
C. return D. pass

5. {RERE —BERRARBIBEHPNRRIES » WAL FHBER :
- 02325 B8] points J5%E(E + B points HR 1 -
- WREH plus 2 True » ABAE points HANE °
RIBT -

01l def add score(score, plus, points):

02 if plus == True:

03 points = points * 2
04 score = score + points
05 return score

06 points = 5
07 score = 10

08 new score = add score(score, True, points)

R ERL - RS EENFLERE Yes » SRIFEEREE No o
A. RIVESERDAR 0L {TENRUTARS:

def add score(score, plus, points = 1):
( )Yes ( )No
B. —BEARREERSELSE EEAIEUSERDREAIUBEETER
( )Yes ( )No
C. RRAMEBESHFUHNN, AE=BSHOERR Nonee
( )Yes ( )No
D. 03{THUEREINEE 06 TPEE] points BIE
( )Yes ( )No
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